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Tight Fit Sudoku (Difference) by Prasanna Seshadri
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Tight Fitting a New Beginning�

Rules: Variation of Tight Fit Sudoku. Insert a number from {0,1,2,2,2,3,3,9} 
into each cell so that the full number set appears in each row, column, and 

bold region. Some white and black circles are given on some slashes. If there 
is a black circle with the slash, the bigger number must be above the smaller 
number. If there is a white circle with the slash, the smaller number must be 
above the bigger number. A number in a circle gives the difference between 
the two values in the cell with the slash. If the difference is 0, the color of the 

circle is irrelevant.

{0,1,2,2,2,3,3,9}


